


||||II||||"|||||"" o

'-.' \ %um | I

'i'IIElﬁ Ilhk‘;:

Established in Shan-Kang Dist., Taichung City in 1974, originally named” Hong-Bing Iron Works
Company”, focus on OEM for hand tool accessory. Start manufacturing air tool in 1979.
Hong Bing Pneumatic Industry Co. Ltd was founded in 1987 as professional air tools
manufacture factory.

HONG BING has been approved by ISO 9001(SGS) and CE (TUV). HONG BING has gathered
many years experience of R&D and Q.C., while engaging in innovative and stabilizing quality.
On production facility, we use automatic and semi-automatic CNC, and strictly manufacturing
key spare parts. It will increase the good rate and accurate.

HONG BING is your best choice for industrial applications of pneumatic tools.

1974F AR edrmmEE » F= TEHETH] YHSRRFITESHANIRE -

1979 RARB THERES » R1987FRIT TERRE IERKRDBRALT I EXREERE L
=R

ZIREEIB 1SO 9001(SGS) ~ CE (TUV) R5E - AR HRSHHRENEE » REI T RAVKEE
BB FEREIETCERRE - £EERBELE r FEZEFHEYXESHMLEREINT » &
REEHERMEEEN  SNSAERERREBEEE -

ARHRRBNBNTIERTXRFEHERLELXERBEPRENEE

CONVERSION CHART / 88{1JjaE&3E

° LENGTH/EE e PRESSURE / &
1in=0.02554 m 1bar=100 kPa 0.01bar
1ft=12in Tkg/cm®(at)=98.0665 kPa 1kPa= { 0.0101972 kg/cm* (at)
, 1psi=6.89476 kPa 0.145038 psi
{ e ] 39.3701 in
3.28084 ft « POWER/ I)
Tkpm/s=9.80665 w 101.972 kpm/cm? (at)
e WEIGHT /&8 Tkcal/s=4.1868 kw 0.238846 keal/s
11b=0.453592 kg Tkcal/h=1.163 w Tkw= { 859.845 kcal/h
Tkg=2.20462 ft 1hk=735.499 w 1.35962 hk
Thp=745.7 w 1.34102 hp
* TORQUE /7] e FLOW / i 3
Tkgm=9.80665 Nm 1Nm= | 0:101972 kgm Tm¥/min=16.6667 L/s=35.335 cfm
1Ibf=1.35582 Nm 0.7375562 Ibf x ft 1cfm=0.471947 L/s=0.0283 m*min 1L/s=201189¢cim

1ft-lbs=0.138 kg-m Tm¥min=0.277778 L/s




Air Screwdriver
and Air Wrench

Selection Guide

FOBHETE
RBRFEAEE

ANGLE #3555

B IMPACT SCREWDRIVER & 28! iR 4 #E 5

STRAIGHT EfR &Y

e o

PISTOLF g%

==

301L90 301A1 311LHA 100A1
320 301AH 310LHA 308DA1
403LN 808A1 306 310DA
301LA1 310Q 330DQ
MODEL 601A 328Q 100LA1
idl 809A1 310LDA
306SL 409WA1
310LQ 605DA
328LQ 606DQ
406LN 906DAQ
B CLUTCH TYPE SCREWDRIVER Bt & BRI $4iE F
103 302L90 103G
304A1 302 301LCG
304B1 5C1419 2C8425
314A1 5C1515
scie |_soon
i A
ﬂ ﬁ 404LN
B TORQUE CONTROL SCREWDRIVER 11 ] iR #l| B #2445
106A 106B 252110 5SLA15 5SLAO8 5SLAQO3
150625 1S0607 5S81515C 253215 5S5108A 254304
MODEL 585115C | 5S1508B | 5S1508A | 5S5103
ic i 5515158 | 253208
555108B 254307
555115B
SCREW SIZE
02 44 3 ~F 2mm | 2.5mm | 3mm 3.5mm | 4mm 5mm 6mm 8mm
M IMPACT WRENCH & BRI iF=F
301LB90| 301B3 | 311LH3 | 308DW | 100B |130LH4 | 130B 603D 936D2 | 912D2 | 913D2 | 914D2
301LB3 | 310LH3|310DB4 100LB | 131LB | 908D 915DA
403LB3| 306B | 330D4 906D4 909D
310B3 [310LD4 606D4
MODEL 328B3 409WHA
o 809B1 [310LB3
ﬂ ﬁ 306SL1|328LB3
406LB
605D4
grrs | M6 | M8 | M10 | M12 | M14 | M16 | M18 | M20 | M22 | M24 | M27 | M30
grms 10mm 13mm | 17mm | 19mm|22mm | 24mm | 27mm 30mm 32mm 36mm | 41mm |46mm




Air Angle Grinder

RENAER

OP-2850 4~ OP-3856 7~
OP-2850A 5~ Side exhaust
Front exhaust RIBER
BUHER,

B
o

‘
O OP-3855 7~
Side exhaust
OP-1850 4~ AIBER
OP-1850A 5
Front exhaust
HUBER
SPECIFICATION(air pressure at 90psi * 6.2bar - 6.3kg/cm?)
. Spinde Free Air Overall Air Net .
MODEL Igd Sl%e Thread Speed Consumption | Length Inlet Weight nggs_ge Mfgé%;%uer
id] 5% THAN EEEEE M ERE z2 R AREE B & :
mm | inch  ~ mm rpm  l/min| ¢fm | mm | inch 5] kg Ib | mm | inch, W HP

OP-2850 101 | 4 'M10x1.5 11000 @ 452 | 16 235  9.25 /4 | 1.8 3.96 | 9.5 | 3/8 470 0.63
M14x2 10000 452 | 16 235 9.25 1/4 |1.88 4.14 | 9.5 | 3/8 470 0.63

OP-2850A 127
OP-3856 177 1000 791 | 28 |290(11.41| 3/8 [3.317.29 |95 | 3/8|895| 1.2
OP-1850 101 M10x1.5 11000 @ 452 16 245 9.65 /4 [1.71 3.76 | 9.5 | 3/8 470 0.63

M14x2 10000 @ 452 | 16 245 9.65 /4 | 1.8 3.96 | 9.5 | 3/8 470 0.63

OP-1850A 127 :
7000 791 | 28 |345(13.58 | 3/8 |3.31 7.29 | 9.5 | 3/8)|895| 1.2

OP-3855 177

- N & ~d




I@Hﬂl @ ilmca

Air Angle Grinder
RE)A E K

OP-845P 4"

Rear exhaust

=HER

OP-CVG660B 6" OP-CVG945B 9"
Vertical grinder Vertical grinder
=R A EELHERM

SPECIFICATION(air pressure at 90psi « 6.2bar « 6.3kg/cm?)

, Free Air Overall Air Net :
MODEL I;ad Sr;e Speed | Consumption | Length Inlet Weight Hégﬁs_';e M%%]?J{:ger
il g HEEEE R E 2 E AREE = =B .

mm inch, ~ pm I/min | ¢fm | mm inch| PT kg Ib | mm inchf W | HP
0P-845P 101 4 12000 | 396 | 14 | 303 (1192 1/4 15 | 33 95|38 | 746 | 1
OP-CVG660B 150 6 5500 580 |20.5 | 279 [10.98| 1/2 |6.29 [13.86 |12.7| 1/2 | 2835 | 3.8
OP-CVG945B 230 9 4500 580 |20.5 | 279 |1098| 1/2 |6.05 |{13.33 |12.7| 1/2 | 2835 | 3.8




Air Die Grinder

R B % BE

OP-G2120

Front exhaust
RIBER

OP-G2220

Side exhaust

il BEsR

OP-G2320

Side exhaust

ffl BEsR

SPECIFICATION (air pressure at 90psi - 6.2bar - 6.3kg/cm?)

OP-G2520

Front exhaust
Rotary type

Al EEA
fiE #% 1\

OP-G2620
Side exhaust
Rotary type
RIBER
eSS 1Y,

OP-G2720

Side exhaust
Rotary type

fl BF 5,
E#F T\

MODEL
it i

0P-G2120
0P-G2520
0P-G2220
0P-G2620
0P-G2320
0P-G2720

Chuck Size
HEERTT

mm

ch h O Oy O &

Free
Speed
g =P 1 B
rpm
20000
20000
20000
20000
20000
20000

Air
Consumption
R E
I/min| cfm
410 | 14.5
410 | 14.5
410 | 14.5
410 | 14.5
410 | 14.5
410 | 14.5

Overall
Length

z K

mm | inch
170 | 6.69
175 | 6.88
320 |12.59
325 |12.79
595 |23.42
600 |23.62

Air
Inlet
ARIEE
P.T
1/4
1/4
1/4
1/4
1/4
1/4

Net
Weight
£ &

1.16
1.06
1.63
1.52
2.817
2.75

2.55
2.33
3.59
3.35
6.32
6.06

Hose Size
BERYT

mm | inch
9.5 | 3/8
9.5 | 3/8
9.5 | 3/8
9.5  3/8
9.5 | 3/8
9.5  3/8

Motor Power

W | HP
746 1
746 1
746 1
746 1
746 | 1
746 1




Air Die Grinder

R ENZ EE B

OP-GLH230

Grinding stone
Rear exhaust
FEH : 30mm
3z13 ]

OP-192K
For paly
Rear exhaust
RS
32131

: 30mm

OP-1180LT

Rear exhaust

EHER

OP-GLH750

Rear exhaust

EHER

OP-1281T

Rear exhaust

BHER

OP-190
Exquisite grinder
Rear exhaust
M

RHER

OP-1181T

Rear exhaust

EHER

OP-1082T OP-1180T OP-1201A

Rear exhaust Rear exhaust Front exhaust

BHER BBER HIHFR,
SPECIFICATION (air pressure at 90psi - 6.2bar - 6.3kg/cm?)

Chuck Size Frob gl . Wi - N?t Hose Size  Motor Power
MOPEL | 38RY | ot | mmm | = m |AmEm ® m | BERT | mEnE
mm rpm I/min | ¢fm  mm |inch| PT kg | Ib | mm | inch W | HP

OP-GLH230 M7x0.75 23000 11 2.5 | 135 | 5.3 1/4 0.3 |0.66 |6.35| 1/4
0P-GLH750 3 75000 112 | 4.0 | 165 | 6.5 1/4 0.22/0.48/6.35| 1/4
0P-190 3 70000 85 3 130 | 5.12 1/4 0.25/055|6.35| 1/4
0P-192K 3 55000 85 3 130 | 5.12| 1/4 |0.32| 0.7 6.35| 1/4
OP-1180LT 6 21000 297 1105 | 290 (11.41 1/4 0.71/1.56| 9.5 | 3/8 | 230 | 0.3
OP-1281T 6 21000 | 283 | 10 | 160/6.29| 1/4 |053(1.17| 95 | 3/8 | 230 | 0.3
OP-1181T 6 26000 297 | 105 | 285 (11.22| 1/4 |0.65/1.43| 9.5 | 3/8 | 230 | 0.3
OP-1082T 6 26000 311 11 150 | 5.9 1/4 1036(0.79| 9.5 | 3/8 | 230 | 0.3
OP-1180T 6 26000 | 325 [ 11.5 | 230 | 9.05 1/4 |054|1.19| 9.5 | 3/8 | 230 | 0.3
OP-1201A 6 22000 381 [13.5 | 170 | 6.69 1/4 |0.62|1.37| 9.5 | 3/8 | 383 | 0.5




